

Research Article

Trichomonas, Candida and Bacterial Infection: Statistical Correlation

Rasha H Kuba¹, Jinan M Hasan², Entissar J Saheb³, Israa S Musa⁴

¹⁻⁴Department of Biology, University of Baghdad, College of Science, Iraq

DOI: <https://doi.org/10.24321/0019.5138.202665>

I N F O

Corresponding Author:

Israa S Musa, Department of Biology, University of Baghdad, College of Science, Iraq

E-mail Id:

israa.salim@sc.uobaghdad.edu.iq

Orcid Id:

<https://orcid.org/0000-0001-6551-4035>

How to cite this article:

Kuba R H, Hasan J M, Saheb E J, Musa I S. *Trichomonas, Candida and Bacterial Infection: Statistical Correlation*. J Commun Dis. 2026;58(3):150-157.

Date of Submission: 2026-03-12

Date of Acceptance: 2026-09-29

A B S T R A C T

Background: It was only recently established that the vaginal microbiota, one of the important human-microbial habitats, consists of a moderately diverse community of microbes that interact with vaginal health.

Objectives: The purpose of this study was to assess the prevalence, statistical correlations, antimicrobial susceptibility patterns of bacterial vaginosis (BV), *Candida albicans* (*C. albicans*), and *Trichomonas vaginalis* (*T. vaginalis*) among Iraqi women as well as their antibiotic susceptibility.

Methods: A cross-sectional study was conducted from November 2021 to October 2023, 500 vaginal swabs were collected from different clinical laboratories in Baghdad, Iraq. The ages of participants ranged from 18 to 51 years. The samples were examined using microscopy, biochemical tests, cultures on appropriate media and the VITEK2 system for the identification of microorganisms. Antibiotic sensitivity tests were done using the Kirby-Bauer disc method for seven antibiotics (augmentin, doxycycline, ceftazidime, gentamicin, ciprofloxacin, imipenem, and levofloxacin). Statistical analysis included Chi-square test, and spearman correlation coefficients to evaluate co-infections and risk factors.

Results: Out of 500 vaginal specimens, 144 (28.2%) specimens were identified as an infectious agent. The highest bacterial infections 58 were recorded (22 of them non-haemolytic streptococci, 11 *Nisseria gonorrhoeae*, 11 *Gardnerella vaginalis* (formerly *Hemophilus vaginalis*), 10 *Escherichia coli*, and 4 were diagnosed as *Klebsiella* spp.), and *T. vaginalis* was present in 44 cases (8.8 %) while vulvovaginal candidiasis (caused by *C. albicans*) was detected in 25 (5%). The microscopic examination showed that all 144 specimens contained pus and epithelial cells, and the statistical analysis showed significant differences of the presence of pus cells indicates the intensity of infection especially in *T. vaginalis* is more severe rather than other infections. The study also revealed that antibiotic sensitivity was applied, making it easy to determine the best course of action for an infection to choose the suitable treatment for infection. The microorganisms were most sensitive to imipenem and levofloxacin, followed by gentamicin, doxycycline, ceftazidime, ciprofloxacin, and augmentin.

Conclusion: The study highlights significant correlations and differences in the prevalence of infectious agents in vaginal infection. The higher

percentage was for bacterial infection, followed by *T. vaginalis*, and *C. albicans*; while there was no significant difference between the species that caused the bacterial infection. Antimicrobial profiling are essential for accurate clinical management.

Keywords: Vaginal Microbiota, Bacterial Infection, *Candida*, *Trichomonas*, Vaginal Infection

Introduction

One particular area of the human microbiome is the vaginal microbiome. A small number of microbial species, mostly lactobacilli, that can use glycogen—which is regulated by oestrogens—define special characteristics of the vaginal environment. The vaginal environment becomes acidic due to the production of lactic acid by lactobacilli and other fermentative bacteria in conjunction with vaginal epithelial cells. Numerous infectious and non-infectious causes can lead to vaginal inflammation, also known as vaginitis. Trichomonal vaginitis (TV), vulvovaginal candidiasis (VVC), and bacterial vaginosis (BV) are the most common causes of infectious vaginitis.¹ At some point in their lives, 75% of women experience vaginitis. Each year, these conditions affect millions of women and are strongly linked to a number of adverse outcomes. The main criteria for diagnosing vaginitis are the commonly observed clinical signs and symptoms, followed by microscopic examination of a wet preparation of vaginal discharge. This examination of the sample is inexpensive and simple, but in reality, a variety of factors, including subjective and technical ones, can affect how accurate it is.² The urogenital niche is maintained and shielded from infections and their aftereffects by the vaginal bacteria. Microbiome investigations have frequently overlooked asymptomatic BV and VVC despite a great deal of research.³

BV is a complex condition that is thought to be brought on by a shift in the microbial community from the normally dominant *Lactobacillus* species to a polymicrobial state, with concentrations of other aerobes and anaerobes increasing 100- and 1000-fold, respectively.⁴ It is believed that women's health and illness states are correlated with the bacterial composition of their vaginal microbiome. These compositional changes are associated with various physiological states, like pregnancy, menstrual cycle, and pathological conditions such as bacterial vaginosis, reflecting its dynamic nature.⁵ BV, which affects 10–15% of women of reproductive age, has been linked with the infections of genital tract and adverse pregnancy complications, including chorioamnionitis, endometritis, pelvic inflammatory disease, premature rupture of membranes, intrauterine growth restriction, intrauterine foetal demise, postpartum infection, ectopic gestation, and tubal factor infertility.

Human genital and urinary tracts are parasitised by the extracellular flagellated protozoan *Trichomonas vaginalis* (*T. vaginalis*). Although *T. vaginalis* infection affects human reproductive function, it is still unclear if it can result in infertility.⁶ The most prevalent non-viral Sexually Transmitted Infections in humans is trichomoniasis, which causes a variety of symptoms in females, including increased vaginal discharge, pruritus, and perineal discomfort.⁷ The World Health Organization (WHO) assessment in 2023 found that trichomoniasis affected at least 370 million people globally.⁸

According to the majority of research and review articles, *T. vaginalis* infection can cause cancer. The pathogenic processes involved are as follows: *T. vaginalis* may increase the risk of cancer by promoting an inflammatory response, modifying the physiological environment surrounding the parasite-infected area and the signal transduction cascades, producing metabolites that cause carcinogenesis, and facilitating other pathogenic microbial infections.⁸

Fungal vaginitis has comparable statistics. It has been observed that three-quarters of women have an asymptomatic *Candida* colony, and three out of four women have at least one episode of vaginal candidiasis. Determining a normal vaginal health environment is a significant problem, since recent research has revealed that the lower genital tract (vagina) has a surprisingly diverse microbial community. The ability to identify a balanced vaginal microbiota and connect vaginal diseases to a microbial pathogen or community structure is made possible by new techniques for researching the microbiome.⁴

Mixed vaginal infections disrupt the vaginal milieu, complicating diagnosis and treatment, and often result in recurrent infections and increased antimicrobial resistance.⁹ Even though some microorganisms, like *Candida*, often colonise without causing any symptoms, they are truly opportunistic pathogens that can produce clinical symptoms when the host's immune system is compromised. Multiple therapies that target all pathogens causing symptoms are necessary in cases of mixed vaginitis, which can be classified into different categories, such as BV+VVC, BV+TV, and AV+VVC, based on their causal pathogenic processes. Clinical symptoms, pathophysiology, diagnostic standards, and treatment have not received much attention in the research of mixed vaginitis. Vaginal co-infections, characterised by clinical signs and symptoms caused by a single pathogen, and asymptomatic colonisation by another pathogen, should be distinguished from mixed vaginitis. As a result, treatments for mixed vaginitis should only target the pathogen that produces symptoms.^{10,11}

This study aims to investigate the prevalence and co-occurrence of *T. vaginalis*, *C. albicans* and bacterial infection among Iraqi women with vaginitis and to assess

the associations between these vaginal infections and selected clinical symptoms.

Materials & Methods

Sample Collection

From November 2021 to October 2023, 500 vaginal swabs were collected from different clinical laboratories in Baghdad City, Iraq. The ages of participants ranged from 19 to 51 years.

Microscopic Examination

All the specimens were examined under a microscope for primary identification and for the examination of red blood cells, pus cells, epithelial cells and *C.albicans*. The smears were examined microscopically and diagnosed at 40x magnification. The self-collected vaginal swabs were used to extract vaginal fluids, which were then examined under a microscope to determine the presence of *T. vaginalis*, which is visible in urine sediment, cervical, and vaginal smears stained with two different staining methods, like Gram stain and Giemsa stain. When the step of staining is complete, the movement of protozoa becomes clear under the microscope.

Identification of Infection

Individuals whose reveal that they have BV they were undergo clinical and laboratory pathogenic examinations.^{12,13} A thin, homogeneous discharge, an elevated vaginal pH over 4.5, the release of amines on adding 10% potassium hydroxide to vaginal fluid, and the presence of "clue" cells were the four criteria used to diagnose BV according to the modified Amsel's diagnostic criteria. VVC was diagnosed based on growing yeasts, hyphae, or pseudo-hyphae in a moist preparation (saline, 10% KOH) of vaginal discharge, or using a culture and Gram staining that yielded a positive result for a yeast species.¹⁴ For identification of bacterial infection, culture was done on Blood and MacConkey agar and confirmed by the VITEK system (bioMérieux).

Antibiotic Susceptibility Test for Bacterial Infection

By using the Kirby-Bauer disk diffusion method, the antibiotic susceptibility test for bacterial infection was done.¹⁵ The following seven antibiotic discs (HiMedia, India) at the mentioned final concentrations were used: Augmentin 30µg, doxycycline 30µg, ceftazidime 30µg, gentamicin 10µg, ciprofloxacin 10µg, imipenem 10µg, and levofloxacin 5µg. These antibiotics were chosen because they are considered the most common antibiotics that have been used in the treatment of vaginal infections. The results were classified as resistant, intermediate, and sensitive, according to the inhibition zone recorded by CLSI.¹⁶

Ethics Approval and Consent to Participate

The Iraqi Ministry of Health (Reference: CSEC/0325/0045) and the Ethics Committee of the University of Baghdad's Department of Biology approved the study protocol. For each patient, written informed consent was obtained. The work was completed in compliance with the World Medical Association's code of ethics (Declaration of Helsinki).

Statistical Analysis

The Statistical Packages of Social Sciences (SPSS) (2019) was used to determine the effects of various research parameters. Percentages were compared using the chi-square test, with significance set at 0.05 and 0.01.¹⁷

Results

Out of 500 vaginal specimens, 144 (28.2%) of the specimens showed signs of infection. Among them, 44 specimens contained *T. vaginalis*, 17 showed *C. albicans*, 58 were found to be bacterial infections (22 of them non-haemolytic streptococci, 11 *Gardnerella vaginalis*, 11 *Neisseria gonorrhoeae*, 10 *Escherichia coli*, and 4 were diagnosed as *Klebsiella* spp.), and 25 specimens contained other *Candida* spp. The microscopic examination showed that all 144 (28.2%) specimens contained pus and epithelial cells.

Table I. Percentage Positivity of Infectious Agents

Infectious Agents	No. of Specimens	Percentage from 144	Percentage among Total Specimens	p Value
<i>T. vaginalis</i>	44	30.55	8.8	0.0001**
<i>Other Candida spp.</i>	25	36.00	5.0	0.0001**
<i>C. albicans</i>	17	24.48	3.4	0.0001**
p Value	-	0.0380*	0.1740 NS	-
Bacterial species	58	40.27	11.6	0.0001**
Non-haemolytic streptococci	22	15.27	4.4	0.0084**
<i>Gardnerella vaginalis</i>	11	7.63	2.2	0.2190 NS
<i>N. gonorrhoeae</i>	11	7.63	2.2	0.2190 NS
<i>E. coli</i>	10	6.94	2.0	0.2550 NS

<i>Klebsiella spp.</i>	4	2.77	0.8	0.6730 NS
p Value	-	0.0091**	0.3610 NS	-

** Highly significant ($p \leq 0.01$)

NS: Non-significant

Table 2. Association between Age Range and Type of Infection

Infectious Agent	Age Range (Years)				Total	p Value
	15–25 Younger women	25–35 Reproductive age	35–45 Late reproductive age	45–55 Menopausal transition age		
<i>T. vaginalis</i>	7	15	11	11	44	0.0368*
<i>C. albicans</i>	6	3	7	1	17	0.0094**
<i>Other Candida spp.</i>	8	3	7	7	25	0.0415*
p value	0.7520 NS	0.0037**	0.2160 NS	0.0062**	-	-
Bacterial species						
Non-haemolytic streptococci	0	1	10	11	22	0.0002**
<i>Gardnerella vaginalis</i>	0	1	5	5	11	0.0274*
<i>N. gonorrhoeae</i>	0	1	7	3	11	0.0084**
<i>E. coli</i>	0	1	7	2	10	0.0087**
<i>Klebsiella spp.</i>	0	0	0	4	4	0.0214*
Total					144	-
13						
22						
47						
37						
p value	0.0000 NS	0.8720 NS	0.0062**	0.3950 NS	-	-

* Significant ($p \leq 0.05$), ** Highly significant ($p \leq 0.01$)

NS: Non-significant

Table 3. Antibiotic Resistance Profiles of Bacterial Isolates for Seven Antibiotics by Kirby-Bauer Method according to CLSI (2023)

Antibiotic	Resistance n (%)	Moderate n (%)	Sensitive n (%)	p Value
AMC	39(70.90)	1(1.80)	15(27.27)	0.0001**
DO	25(45.45)	0(0.00)	30(54.54)	0.0001**
CAZ	15(27.27)	16(29.09)	24(43.63)	0.0259*
Gen	0(0.00)	5(9.09)	50(90.90)	0.0001**
CIP	0(0.00)	39(70.90)	16(29.09)	0.0001**
IPM	0(0.00)	0(0.00)	55(100.00)	0.0001**
LE	0(0.00)	0(0.00)	55(100.00)	0.0001**
p value	0.0001**	0.0001**	0.0001**	-

* Significant ($p \leq 0.05$), ** Highly significant ($p \leq 0.01$)

R: Resistance, M: Moderate, S: Sensitive

Table 4. Intensity of Specimens under Study

Intensity Score	Candida (N = 25) n (%)	T. vaginalis (N = 44) n (%)	p Value
0 (nil)	0 (0.00)	0 (0.00)	NS
+	3 (0.00)	0 (0.00)	0.0490*
++	16 (0.00)	1	0.0001**
+++	0 (0.00)	11	0.0006**
++++	6 (0.00)	7	0.902 NS
+++++	0 (0.00)	16	0.0001**
Too much to count	0 (0.00)	9	0.0025**
p value	0.0001**	0.0001**	-

* Significant ($p \leq 0.05$), ** Highly significant ($p \leq 0.01$)

NS: Non-significant

Table 5. Spearman correlation between Age and infectious Agents in the studied samples

Infectious Agent and Bacterial species	Spearman correlation-r with Age	P-value
<i>T. vaginalis</i>	0.35 *	0.0497
<i>C. albicans</i>	-0.41 *	0.0482
Other <i>Candida</i> spp.	0.06 NS	0.7685
<i>Non-haemolytic streptococci</i>	0.73 **	0.0001
<i>Gardnerella vaginalis</i>	0.68 **	0.0004
<i>N. gonorrhoeae</i>	0.52 **	0.0056
<i>E. coli</i>	0.67 **	0.0004
<i>Klebsiella</i> spp.	0.41 *	0.0483
Total	0.57 **	0.0045
* ($P \leq 0.05$), ** ($P \leq 0.01$).		

* Significant ($p \leq 0.05$), ** Highly significant ($p \leq 0.01$)

NS: Non-significant

Discussion

Mixed vaginitis occurs when many pathogenic processes are present at the same time and are mediated by at least two different kinds of vaginal pathogens. The most common manifestation of mixed vaginitis among the different kinds is the concurrent occurrence of BV and VVC. Worldwide, mixed vaginitis has an impact on women's health at every age. The clinical signs, pathophysiology, diagnostic standards, and treatment of mixed vaginitis, however, have not received much attention in research.

These results revealed that there were highly significant differences in the prevalence rates of vaginal infection among the causative infectious agents. The highest prevalence percentage was for bacterial infection (11.6%), followed by *T. vaginalis* (8.8%), *Candida* (5.0%), and *C. albicans* (3.4%). No significant difference was observed among the bacterial species that caused bacterial infection. According to earlier data, the prevalence of trichomoniasis was 5.3% in women and 0.6% in men worldwide, with a rising trend,¹⁸ 1.8%

and 0.5% in women and men, respectively, in the United States,¹⁹ and 1.7% in France.²⁰

A highly significant association was observed between the age range of patients and the kinds of vaginal infection, with the age range of 35–55 years showing the greatest percentage of vaginal infection.

The findings of the study by Xiao et al. provide insights into improving the cure rate and reducing recurrence.²¹ The study looked at the diversity, composition, and other characteristics of the vaginal microbiome in patients with mixed vaginitis (BV+VVC), both before and after treatment. It showed that the combined medication therapy proved successful in treating mixed vaginitis, and the results of the treatment suggested that better BV treatment might be more advantageous due to the increased difficulty of treating BV. According to the findings of a study conducted by Anhet al., Compared to many other regions of the world, Vietnam has a higher prevalence of VVC among symptomatic non-pregnant women of reproductive age. One noteworthy

aspect was the high prevalence of non-*albicans* *Candida* species, which were frequently more resistant to antifungal medications. Antifungal agent resistance was minimal among vaginal *C. albicans* isolates. routine screening and treatment should be done in order to monitor changes in species distribution and susceptibility to antifungals.²²

These results of the antibiotic resistance profile showed that the bacteria were most sensitive to imipenem and levofloxacin, followed by gentamicin, doxycycline, ceftazidime, ciprofloxacin, and augmentin.

In a 2016 local study, Sahebet al. found that 525 (85.5%) of 614 females had positive *T. vaginalis* screening results. However, 89 of the 614 females tested negative for *T. vaginalis* and instead developed another vaginal infection.²³ Seven (1.14%) of the tested females had *Candida* infection, whereas 82 (13.36%) had bacterial infections, including *Gardnerella vaginalis*, *E. coli*, and *Pseudomonas* spp. Furthermore, the majority of infected females were in the age category of over 30 years. For *Trichomonas* infections, 122 patients (85.31%) had four pus cells per field of microscope; for bacterial infections, 29 patients (69.05%) had two pus cells per field of microscope; and for *Candida* infections, 2 patients (33.33%) had two statistically significant pus cells per field of microscope. The study's findings showed that *T. vaginalis* is endemic in Baghdad and that its intensity rate is higher in females than in those infected with bacteria or *Candida*. The spread of this parasite could be managed by preventing *T. vaginalis* infections.

According to a²⁴, more than one-third of non-pregnant reproductive-aged women seeking Primary Health Care in Sana'a had single or mixed infections with BV, VVC, or TV, that sought to ascertain the prevalence and risk factors associated with BV, VVC, and TV among these women. While the prevalence of VVC was significantly higher among women with polygamous spouses, BV, the most common cause of vaginitis, was significantly associated with being younger than 25 years and using Intrauterine Contraceptive Devices. It is advised that polygamous couples receive health education, Intrauterine Contraceptive Devices users regularly undergo screening for BV, and women are screened for vaginitis prior to treatment.

Zhanget al.'s study supported the idea that *T. vaginalis* infection and infertility are related, and that the infection itself can cause infertility.⁶ Their research lays the groundwork for future research into the pathophysiology of *T. vaginalis* infection. Additionally, Zhanget al. verified that *T. vaginalis* infection may be linked to cancer of the reproductive system and offered several potential research avenues to elucidate the carcinogenic mechanisms of *T. vaginalis* infection.⁸

The spearman correlation analysis demonstrated significant associations between age and the establishment of several infectious agents. The significant positive correlation was revealed between age and the protozoan parasite *T. vaginalis* ($r = 0.35$, $p = 0.0497$), that means there is a tendency for the occurrence of this infection that increase with age, while *C. albicans* infections showed a significant negative correlation with age ($r = -0.41$, $p = 0.0482$), that means candidiasis decrease when the is increases. No significant correlation was detected between age and other *Candida* spp. ($r = 0.06$, $p = 0.7685$). In contrast, bacterial isolates, revealed that there are significant positive correlations for non-haemolytic streptococci ($r = 0.73$, $p = 0.0001$), *Gardnerella vaginalis* ($r = 0.68$, $p = 0.0004$), *E. coli* ($r = 0.67$, $p = 0.0004$), *N. gonorrhoeae* ($r = 0.52$, $p = 0.0056$), and *Klebsiella* spp ($r = 0.41$, $p = 0.0483$). The strongest of the correlation was observed for non-haemolytic streptococci, followed by *Gardnerella vaginalis* and *E. coli*. The total establishment of infectious agents was positively correlated with age ($r = 0.57$, $p = 0.0045$), that means older age women are associated with a higher frequency of pathogenic agents in studied population.

Conclusion

This study concluded that there were highly significant differences in the prevalence of infectious agents in vaginal infection. The higher percentage was for bacterial infection, followed by *T. vaginalis*, *Candida*, and *C. albicans*; while there was no significant difference between the species that caused the bacterial infection. The age range of the patients showed a highly significant association with the kinds of vaginal infection, revealing that the age range of 35–55 years had the greatest percentage of vaginal infection with different infectious agents. The antibiotic resistance profile showed that the bacteria were most sensitive to imipenem and levofloxacin, followed by gentamicin, doxycycline, ceftazidime, ciprofloxacin, and augmentin and the severity of infection was high with the infection with *T. vaginalis* than other types of infection. The total establishment of infectious agents was positively correlated with age ($r = 0.57$, $p = 0.0045$), that means older age women are associated with a higher frequency of pathogenic agents in studied population. More studies are recommended to detect vaginal microorganisms and to investigate their pathogenicity for treatment and therapy.

Availability of Data and Materials

The datasets used and/or analysed during the current study are available from the corresponding author on reasonable request.

Authors' Contributions

RHK and JMH contributed to the idea and design of the research. All authors were involved in the study

methodology. RHK and JMH contributed to the data collection and analysis for the study. JMH was involved in drafting the manuscript. All authors have read and agreed to the published version of the final manuscript.

Declaration of Generative AI and AI-Assisted Technologies in the Writing Process: The authors declared that no AI or AI-Assisted Technologies were used in the Writing Process of this manuscript.

Conflict of Interest: None

Source of Funding: None

References

- Buchta V. Vaginal microbiome. Ceska Gynkol. 2018;83(5):371-9. [PubMed] [Google Scholar]
- Yuan D, Chen W, Qin J, Shen D, Qiao Y, Kong B. Associations between bacterial vaginosis, candida vaginitis, trichomonas vaginalis, and vaginal pathogenic community in Chinese women. Am J Transl Res. 2021;13(6):7148-55. [PubMed] [Google Scholar]
- Pramanick R, Mayadeo N, Warke H, Begum S, Aich P, Aranha C. Vaginal microbiota of asymptomatic bacterial vaginosis and vulvovaginal candidiasis: are they different from normal microbiota? Microb Pathog. 2019;134:103599. [PubMed] [Google Scholar]
- White BA, Creedon DJ, Nelson KE, Wilson BA. The vaginal microbiome in health and disease. Trends Endocrinol Metab. 2011 Oct;22(10):389-93. [PubMed] [Google Scholar]
- Greenbaum S, Greenbaum G, Moran-Gilad J, Weintraub AY. Ecological dynamics of the vaginal microbiome in relation to health and disease. Am J Obstet Gynecol. 2019;220(4):324-35. [PubMed] [Google Scholar]
- Zhang Z, Li Y, Lu H, Li D, Zhang R, Xie X, Guo L, Hao L, Tian X, Yang Z, Wang S, Mei X. A systematic review of the correlation between *Trichomonas vaginalis* infection and infertility. Acta Trop. 2022;236:106693. [PubMed] [Google Scholar]
- Ryan CM, de Miguel N, Johnson PJ. *Trichomonas vaginalis*: current understanding of host-parasite interactions. Essays Biochem. 2011;51:161-75. [PubMed] [Google Scholar]
- Zhang Z, Li D, Li Y, Zhang R, Xie X, Yao Y, Zhao L, Tian X, Yang Z, Wang S, Yue X, Mei X. The correlation between *Trichomonas vaginalis* infection and reproductive system cancer: a systematic review and meta-analysis. Infect Agent Cancer. 2023;18(1):15. [PubMed] [Google Scholar]
- Said SK, Ishimwe MPS, Kasujja M, et al. Mixed Vaginal Infections and Their Predictors Among Women With Abnormal Vaginal Discharges Attending Gynecological Clinics in Western Uganda: A Cross-Sectional Study. *Interdiscip Perspect Infect Dis*. 2025;2025:6511013. doi:10.1155/ipid/6511013
- Sobel J. D., Subramanian C., Foxman B., Fairfax M., Gyax S. E. (2013). Mixed Vaginitis-More Than Coinfection and With Therapeutic Implications. *Curr. Infect. Dis. Rep.* 15 (2), 104–108. doi: 10.1007/s11908-013-0325-5 [DOI] [PubMed] [Google Scholar]
- Benyas D., Sobel J. D. (2022). Mixed Vaginitis Due to Bacterial Vaginosis and Candidiasis. *J. Low Genit. Tract. Dis.* 26 (1), 68–70. [DOI] [PubMed] [Google Scholar]
- Amsel R, Totten PA, Spiegel CA, Chen KC, Eschenbach D, Holmes KK. Nonspecific vaginitis. Diagnostic criteria and microbial and epidemiologic associations. *Am J Med.* 1983;74(1):14-22. [PubMed] [Google Scholar]
- Nugent RP, Krohn MA, Hillier SL. Reliability of diagnosing bacterial vaginosis is improved by a standardized method of gram stain interpretation. *J Clin Microbiol.* 1991;29(2):297-301. [PubMed] [Google Scholar]
- Workowski KA, Bachmann LH, Chan PA, Johnston CM, Muzny CA, Park I, Reno H, Zenilman JM, Bolan GA. Sexually transmitted infections treatment guidelines, 2021. *MMWR Recomm Rep.* 2021;70(4):1-187. [PubMed] [Google Scholar]
- Bauer AW, Kirby WM, Sherris JC, Turck M. Antibiotic susceptibility testing by a standardized single disk method. *Am J Clin Pathol.* 1966;45(4):493-6.
- Clinical and Laboratory Standards Institute (CLSI). Performance standards for antimicrobial susceptibility testing. Approved standard. CLSI Document M100.2023. p. 106-8.
- SPSS. Statistical Packages of Social Sciences-SPSS/ IBM Statistics 26 step by step. 16th ed. 2019. <https://doi.org/10.4324/9780429056765>
- Rowley J, Hoorn SV, Korenromp E, Low N, Unemo M, Abu-Raddad LJ, Chico RM, Smolak A, Newman L, Gottlieb S, Thwin SS, Broutet N, Taylor MM. Chlamydia, gonorrhoea, trichomoniasis and syphilis: global prevalence and incidence estimates, 2016. *Bull World Health Organ.* 2019;97(8):548-62. [PubMed] [Google Scholar]
- Patel EU, Gaydos CA, Packman ZR, Quinn TC, Tobian AA. Prevalence and correlates of *Trichomonas vaginalis* infection among men and women in the United States. *Clin Infect Dis.* 2018;67(2):211-7. [PubMed] [Google Scholar]
- [Pereyre S, Nadalie CL, Bebear C; Investigator Group. *Mycoplasma genitalium* and *Trichomonas vaginalis* in France: a point prevalence study in people screened for sexually transmitted diseases. *Clin Microbiol Infect.* 2017;23(2):122.e1-122.e7. [PubMed] [Google Scholar]
- Xiao B, Disi A, Qin H, Mi L, Zhang D. Correlation analysis of vaginal microbiome changes and bacterial vaginosis plus vulvovaginal candidiasis mixed vaginitis prognosis.

- Front Cell Infect Microbiol. 2022;12:860589. [PubMed]
[Google Scholar]
22. Anh DN, Hung DN, Tien TV, Dinh VN, Son VT, Luong NV, Van NT, Quynh NT, Tuan NV, Tuan LQ, Bac ND, Luc NK, Anh LT, Trung DM. Prevalence, species distribution and antifungal susceptibility of *Candida albicans* causing vaginal discharge among symptomatic non-pregnant women of reproductive age at a tertiary care hospital, Vietnam. BMC Infect Dis. 2021;21(1):523. [PubMed]
[Google Scholar]
23. Saheb EJ, Kuba RH, Zghair KH, Mosa IS. A comparison between trichomoniasis infection and other vaginal infection among females in Baghdad Governorate-Iraq. Iraqi JSci. 2016;57(1C):545-51. [Google Scholar]
24. Abdul-Aziz M, Mahdy MA, Abdul-Ghani R, Alhilali NA, Al-Mujahed LK, Alabsi SA, Al-Shawish FA, Alsarari NJ, Bamashmos W, Abdulwali SJ, Karawani MA, Almikhlafe AA. Bacterial vaginosis, vulvovaginal candidiasis and trichomonal vaginitis among reproductive-aged women seeking primary healthcare in Sana'a city, Yemen. BMC Infect Dis. 2019;19(1):879. [PubMed] [Google Scholar]